SR 1
y = X2+ y?2=9, y=|2x|, x=-=3]|sin VY|
FRXOTS7FEIGIEFIZHSTH LN

1
M

M2 BT (X)), g ZRDEIICEET B
x4— 2+6 (Jx] < 1)

2 (x| > 1)
g (x) =% COS(ZTL’X)"‘E (|x| <2)

CDEET, 2HIBRY=TX) . y=g(X) DT T 7 Z=HEEHE L

f(x) =




[l ied 1

120
100
80
60
40

20

=§, x*?+y?*=9, y=|2x|, x=-3|siny|
FRXDTS57%EISIBFICHEZTHL L

Chart Title

12

10

35

1.5

0.5
- = = -05-05 0

-1.5

-35



[BIRE2 EHfK). e EROD&LS IEHT S
X*—x%246 (x| < 1)}

F O :{ 2 (el > 1)

|x|+1
g (x) :g cos(an)+§ (x| <2)

cDEE, 2HBYy=FX). y=g ) DT S 7FHETE I
=11

7




	Slide 1
	Slide 2
	Slide 3

